Naloge prepiši v zvezek in jih reši.  
Na koncu  imaš rešitve, da boš lahko sam/a preveril/a, če si delal/a prav.

PONOVIMO
1. Pisno deli in naredi preizkus.
3 0 9 7 : 4 8 =                                    8 3 6 8 : 6 5 =


2. Izračunaj.
56 - 42 : 7 =
18 : 2 - 4 ∙ 2 =
4 ∙ (3 + 6) - 12 =
(17 - 1) : 4 + (13 + 3) =
5 ∙ 6 - 2 ∙ (9 - 5) =
50 : (4 + 6) ∙ (9 – 2) =


REŠITVE:
1. naloga
3 0 9 7 : 4 8 = 64, ost. 25                        8 3 6 8 : 6 5 = 128, ost. 48      
2. naloga
56 - 42 : 7 = 56 – 6 = 50
18 : 2 - 4 ∙ 2 = 9 – 8 = 1
4 ∙ (3 + 6) - 12 = 4 ∙ 9 – 12 = 36 – 12 = 24
(17 - 1) : 4 + (13 + 3) = 16 : 4 + 16 = 4 + 16 = 20
5 ∙ 6 - 2 ∙ (9 - 5) = 30 – 2 ∙ 4 = 30 – 8 = 22
50 : (4 + 6) ∙ (9 – 2) = 50 : 10 ∙ 7 = 5 ∙ 7 = 35

